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SECTION 4.7
3 _
4.7.1 Evaluate lim = —22F1
z—+o0 423 + 2
4.7.3 Evaluate lim (secz — tanzx).
3"
) 1
4.7.5 Evaluate lim - - =
=0T T
4.7.7 Evaluate lim sinzInz.
z-
4.7.9 Evaluate lim zlnsinz.
z—0t
4.7.11 Evaluate lim (tanz)**®.
z—»i-
4.7.13 Evaluate lim (sinz)®.
z—0%
4.7.15 Evaluate lim(sin 2z + 1)/~
z—0
4.7.17

Evaluate lin(1) (coshz)¥/=.
T

4.7.2

4.7.4

4.7.6

4.7.8

4.7.10

4.7.12

4.7.14

4.7.16

4.7.18

Questions, Section 4.7

T

. e
Evaluate lim =
r—+00 I

Evaluate lim (csc:z: - l)
z—0 x

Evaluate lim (z — 1) tan LES
=1 2

Evaluate lim zlnz.
ot

X
Evaluate lim (z + %)%
Z—-+400

2

E x
Evaluate lim (1 + —12-) .
T—+00 T
Evaluate lin(l)(cos 3x)=,
T—H
Evaluate lim (2¢* + x2)3/z.
T—+00

Evaluate lintl) (e® + 3z)'/°.
—



